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Bl mi AR B T A R s R IX K AN I A RO 5 TR 2R L R B E 2
FT A 1 25
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(] ) B 5 A
dx,y)= | D (x, —y)? 5.1
i=1
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2. RZMBUUE

X iR AE R A a2 B U I 1 B A 1) 10 A 2 B 1) e B DRIV o A 52 AU O
JEE A RO A T B o AR SR DL E i 2 P A 1) e A A AR 5% . DI 1) S A (] A 1)
B A SEARAUE S 1 T A 52 4 A BCAY 1) B B9 AR LR D — 1. 3 R/ R AR E 2, [ O X
Jr i R

x ey
(e

R L AR ALE 114 3 B R B BEA 2 R I i RN B R T A 5 1) AR SRR L X
TR B S BB 22 5 . AR LR 2 H T 30 o0 2 A8 b 2 Rl DL I AR
AN B

. ERTIEE

o WA B e — AR AR S L B ES L Z E P (g i) e Ry DAKCHE R4S T 42 0 it
R R SCH

D(x,y) =cos(0) =

d(x,y)=+/(x—y)'S(x—y) (5.2)
Horp BRI S W0 5 1Y . 3k i g 88 1) 2 DS B AL 1) i O AHBLRE . 49EE S R
BRI T I, S R R A i T R IR RS FERE S AT LAGE S U R A B 1 B
P25 FEAS ) AL T DL i YIZRRE A 2] 15 3],
2 T P 5 5 DO P B R P B DL R T e R RO 0 R SRR AR B AR
PR A T e P DU ] T 2 A I B PR T Tk e M (P S B AT LR
HY B AR T R DG B B i AT AT PR 22

Q5.3 JEHRAEN K i

W 5.1 A KRB R IR AR AN i E KO I D R AW — i RT DL
3 A2 SUBAIE T 1 BRI — N BN KBTS W n SR 5 T R A A 19 U7 22 AT B E —
NHEAIERN K 6.

i 3 28 SRRy R K (0 2%, — SR Bl 5. 2,
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PEBE A K (ERT T —A 6 A K, 24 K 4k 238 sl /s 1 B, 4l R R AR 2 b
FHnE 5.2 W K I FE SR 10, BT Ak K =10 G IE.

Q, 5.4 KLARH—BIEN R

1. 615

TEARGE I, AT AT iris Xogi 4. X BHn dE RALAS 22 T M B 46 3k 5. 1
B .

K51 iris HUIBEHRK

1. 5 4 Bk & X
1 sepal-width TEE T B B B e
2 sepal-length TSR B B B
3 petal-width TR w8 B B B
4 petal-length AEIA BT S BOME B
5 species B FP 2, 25 3] 45 5 . Setosa. Versicolour. Virginica

2. LR

IR R SR KT AR5 vk S B R AR M A o0 S TN A RO AT
(1) FAH,

1. import numpy as np
2. import matplotlib. pyplot as plt
3. import pandas as pd

(2) A .

dataset = pd.read csv("./data/iris.csv")

dataset. head()

dataset[ 'species'] = dataset['species'].map({'setosa': 0, 'versicolor': 1, 'virginica': 2})
£ A B BE A 0 LA 1

dataset. info()

o W N

(3) Fyst il grde ik

X = dataset.iloc[:,: —1].values
y = dataset. iloc|[:,4].values
£ F I A A AR

from sklearn. model selection import train test split

o W N

X train,X test,y train,y test = train test split(X,y,test size=0.20)
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(4) Hyspe sy,

from sklearn. neighbors import KNeighborsClassifier
classifier = KNeighborsClassifier(n neighbors = 5)

classifier. fit(X_train,y train)

B~ w N e

y pred = classifier. predict(X test)

(5) PRALBEALPERE

1. from sklearn.metrics import classification report, confusion matrix
2. print(confusion matrix(y test,y pred))

3. print(classification report(y test,y pred))

3. ZERETR

BATERNE 5.3 FE 5.4 R,

precision recall fl-score support
1.00 1.00 1.00 9
0.90 1.00 0.95 9
2 1.00 0.92 0.96 12
[[9 8 0] accuracy 0.97 30
[8 9 0] macro avg 0.97 0.97 0.97 30
[0 111]] weighted avg 0.97 0.97 0.97 30
5.3 KNN&EBEHREHERE 5.4 KNNRESHEMEE

EHAEN K {H.

1 error = []

2 for i in range(1,40):

3 knn = KNeighborsClassifier(n neighbors = 1)

4 knn. fit(X train,y train.astype('int'))

5o pred i = knn.predict(X test)

6 error. append(np. mean(pred i != y test.astype('int')))

7 plt. figure(figsize= (8,5))

8 plt. plot(range(1,40), error,color = "red", linestyle = "dashed",
9 marker = "o", markerfacecolor = "blue", markersize = 10)

10. plt.title("Error Rate K Value")
11. plt.xlabel("K Value")
12. plt.ylabel("Mean Error")

BRI K R EANE 5.5 Fiw, 4 K BEAELL3, 15 M B, 43 45 1Y B 13 R
AR BB AN Y A AT — A fE AR RT LA
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Q5.5 iy
1. iXBREE S

DU G2 P 1] B 22 A1 [RS8, B0 o 1T T BB S R ] 2 A — 2 ) 7 4°F
B BT DU T A7 o 8 RN [R5 AT B B SR AR AT Z [ B A LR . DU B
IR A B SR BIT AT 1) S 1 R A R 2 25 A 1) R 0 R AN A A I ARG T I
R,

2. ILLEXREH

I LG =7 R R 28 SCA P 1] B AEAT R AR bR 4R 8 i e K258, )il Bl 2T &
— Nl B R B R B PR B SRR
D(x,y):m@x(‘xi — v, D

DI L I R AR M A5 I F B 5 A e AL B8 T AR T 36 T ) 0 B8 ol ) T AR
FisE BB . PRt O 24 X 8 B T S IR SE I A e . TR DT I SRR
BT CREY I 808 1 A VF T IR Y 8 1 B 2l i i 6 b i

3. AARHTEES

(] FT S $0r B g L R 2 O i R A T — 28 S — AR TV [h] 2 (] (o 4 5225 )
HP P Y R P PR T S St R P ) DR e s TR) A SR AR

« O Ml O Ay KB 0, 7 H b il B Y BE AR I E 1Y

o FREEHETF MR A IEEOR DL e A RE S s TR R R T T R AR

s WREMIPAEX: WAZHREMNERZ - FEL.
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MBEF S ZAHEE RO (EOR AR

PR ] SR 0T BE R 2 U T

1

n N
Dy =D, —y,|”

i=1
P AT e M B PR B TR B OCTE MR SR p WO, FRATAT LGE i E R FI p (R BRAE
PR R A B R AR R AL, A p = 1 U)X AT T R R B U Ak N 2 A s
p=2 W HBRICEE RS ; #5 p=co WA YUILL T REEE .
5] AT S B P A ) Rt R 2 R R B LR R R ) L R, AR
AR HE R B BB A E SR p AR R BRI A S L T AR I S PR A BN 4 A R4
M) p (H.

4. Jaccard Z 5|

Jaccard R &— M T B AL B ARUPE I Z AR PR Y B i, B R G Z AR DL S5 14
FA) BB 55 D SR 1 S B8 BIRE AR SR 38 4R 1 K/INBR ARE AR SE IR SE I R/ . i an, i SR A~ 4R
A — AL F Y SR 03 5 AR B S B4 Jaccard R 51452 1/5=0. 2,

7 iHE Jaccard RS AT H T N 1 sl 2 Jaccard &5l

x Ny
v U a|

Jaccard 51 B9 —> T BB G R B A2 U K/ R AR G, R B HH SR W REXS R G A
AR B S N el DA 28 o 4 Rl AR FF 5SS B A BL . Jaccard G128 % H T —
) B A A 4 R AR P b 2 SR S T AR I — e T (A — R A 1Y
Fr BUit, Jaccard 51 AT RUATR T80 B S0 AR 28 09 BOIN A Ber vER v . R RE B R DU T
SCASREAGLRE 73 A o LA B3t SR 2 1) 19 8 ) B S R JEE
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